


What should come in place of the question mark (?) 

in the following series based on the above 

arrangement?

उपरोक्त व्यवस्था के आधार पर निम्िनिनित श्रृंििा में प्रश्न

निह्न (?) के स्थाि पर क्या आिा िानिए?

1@P, 6EA, W#3, (?)

(1) B%B 

(2) B4I 

(3) B$B

(4) BMB 

(5) BMD
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If all the symbols are dropped from the above 

arrangement, which of the following will be the 

fourth to the right of the eleventh from the right 

end?

यनि उपरोक्त व्यवस्था से सभी प्रतीकों को िटा निया जाए, तो 

निम्िनिनित में से कौि िाए ँछोर से ग्यारिवें के िाए ँसे िौथा

िोगा?

(1) P 

(2) 4 

(3) E

(4) T 

(5) U



Four of the following five are alike in a certain way 

with reference to their positions in the above 

arrangement and so form a group. Which is the one 

that does not belong to that group?

उपरोक्त व्यवस्था में अपिे स्थाि के सृंिभभ में निम्िनिनित पाृंि 

में से िार एक निनित तरीके से समाि िैं और इसनिए एक समूि 

बिाते िैं। वि कौि सा िै जो उस समूि से सृंबृंनधत िि  िै?

(1) 6HG 

(2) D5B 

(3) @7F

(4) #I3 

(5) 2AP
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How many such symbols are there in the above 

arrangement, each of which is immediately preceded 

by a letter but not immediately followed by a 

number?

उपरोक्त व्यवस्था में ऐसे नकतिे प्रतीक िैं, नजिमें से प्रत्येक के 

ठीक पििे एक अक्षर िै िेनकि ठीक बाि एक सृंख्या िि  िै?

(1) None 

(2) One 

(3) Two

(4) Three 

(5) More than three
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Which of the following is exactly in the middle of the 

sixth from the left end and the seventeenth from the 

right end?

निम्िनिनित में से कौि सा बाएृं छोर से छठे और िाएृं छोर से 

सत्रिवें के ठीक मध्य में िै?

(1) W 

(2) H 

(3) 3

(4) # 

(5) 1
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Statements: 

L > R, R ≥ T, T ≥M
Conclusions: 

I. M ≥ R 
II. T < L
(1) Only conclusion II is true.
(2) Only conclusion I is true.
(3) Both conclusions I and II are true.
(4) Neither conclusion I nor conclusion II is 
true.
(5) Either conclusion I or conclusion II is true



Statements: 
P = R, R < F, F < T
Conclusions:
I. T < R
II. F < P
(1) Only conclusion II is true.
(2) Only conclusion I is true.
(3) Both conclusions I and II are true.
(4) Neither conclusion I nor conclusion II is 
true.
(5) Either conclusion I or conclusion II is true



Statements: 
P = R, R < F, F < T
Conclusions:
I. T < R
II. F < P
(1) Only conclusion II is true.
(2) Only conclusion I is true.
(3) Both conclusions I and II are true.
(4) Neither conclusion I nor conclusion II is 
true.
(5) Either conclusion I or conclusion II is true



Statements: 
C < F, F < G, G < M
Conclusions: 
I. M > F 
II. C < G
(1) Only conclusion II is true.
(2) Only conclusion I is true.
(3) Both conclusions I and II are true.
(4) Neither conclusion I nor conclusion II is 
true.
(5) Either conclusion I or conclusion II is true



Statements:
G = T, T < W, W > K
Conclusions: 
I. W > G 
II. W = G
(1) Only conclusion II is true.
(2) Only conclusion I is true.
(3) Both conclusions I and II are true.
(4) Neither conclusion I nor conclusion II is 
true.
(5) Either conclusion I or conclusion II is true



A + B states B is to the NORTH of A.
A = B states B is to the SOUTH of A.
A || B states A is to the East of B.
A * B states A is to the WEST of B.
Now, point S is 20 m = point P. Point Q is 15 m 
= point R. Point U is 15 m + Point V. Point T is 
20 m || point V. Point U is 16 m || point Q. Point R is 
30 m || point P.
A + B बताता िै नक B, A के उत्तर में िै।
A = B बताता िै नक B, A के िनक्षण में िै।
ए || B बताता िै नक A, B के पूवभ में िै।
A * B बताता िै नक A, B के पनिम में िै।
अब, नबृंिु S, 20 मीटर = नबृंिु P िै। नबृंिु Q, 15 मीटर िै
= नबृंिु R. नबृंिु U 15 मीटर + नबृंिु V िै. नबृंिु T िै
20 मीटर || नबृंिु V. नबृंिु U 16 मीटर िै || नबृंिु Q. नबृंिु R 30 
मीटर िै || नबृंिु P.



A + B states B is to the NORTH of A.
A = B states B is to the SOUTH of A.
A || B states A is to the East of B.
A * B states A is to the WEST of B.
Now, point S is 20 m = point P. Point Q is 15 m 
= point R. Point U is 15 m + Point V. Point T is 
20 m || point V. Point U is 16 m || point Q. 
Point R is 30 m || point P.
What is the shortest distance between points S 
and Q?

(1) 5 √ 37 
(2) 7 √ 37
(3) 4 √ 65 
(4) 2 √ 37
(5) None of these



A + B states B is to the NORTH of A.
A = B states B is to the SOUTH of A.
A || B states A is to the East of B.
A * B states A is to the WEST of B.
Now, point S is 20 m = point P. Point Q is 15 m 
= point R. Point U is 15 m + Point V. Point T is 
20 m || point V. Point U is 16 m || point Q. 
Point R is 30 m || point P.
What is the shortest distance between point T 
and the point which is to the East of Q?
(1) 25 m 
(2) 26 m 
(3) 30 m
(4) 24 m 
(5) 22 m



A + B states B is to the NORTH of A.
A = B states B is to the SOUTH of A.
A || B states A is to the East of B.
A * B states A is to the WEST of B.
Now, point S is 20 m = point P. Point Q is 15 m 
= point R. Point U is 15 m + Point V. Point T is 
20 m || point V. Point U is 16 m || point Q. 
Point R is 30 m || point P.
What is the direction of point T in respect of 
point S?
(1) North 
(2) West
(3) South 
(4) East
(5) None of these



How many pairs of letters are there in the 
word ‘DEADLOCK’ (both backward and 
forward directions), each of which has as many 
letters between them in the word as they have 
in the English alphabet?
शब्ि 'DEADLOCK' में अक्षरों के नकतिे जोडे िैं (पीछे 
और आगे िोिों निशाओृं में), नजिमें से प्रत्येक के बीि 
शब्ि में उतिे िी अक्षर िैं नजतिे अृंगे्रजी वणभमािा में िोते 
िैं?
(1) One 
(2) Three 
(3) Four 
(4) Five 
(5) None of these



What will be the difference between the third 
last digit and fourth digit from the left end of 
the number ‘947823165’ after arranging all its 
digits in ascending order?
सृंख्या '947823165' के सभी अृंकों को आरोिी क्रम में 
व्यवनस्थत करिे के बाि बाएृं छोर से तीसरे अृंनतम अृंक 
और िौथे अृंक के बीि क्या अृंतर िोगा?

(1) 4 
(2) 5 
(3) 3
(4) 7 
(5) None of these



There are a certain number of floors in a building. 
No floor is vacant. Only one person stays on each 
floor. The persons living on the floor are given either 
age or name but not both (Example: If P lives on 1st 
floor, then his age is not given, similarly, the one 
whose age is 10 lives on 2nd floor, His name is not 
given). The ground floor is numbered one, the one 
above it is numbered two and so on. There are three 
floors between V’s floor and the floor of the one 
whose age is 12. The one, whose age is 30, lives 
immediately below V’s floor. There are two floors 
between the one whose age is 12, and the one whose 
age 17. The one, whose age is 8, lives just above U’s 
floor. The one, whose age is 17, lives just above Z’s 
floor. The age of the person, who lives on the 
lowermost floor is not given. X lives on the floor 
which is three floors above the floor of the one, 
whose age is 8, lives. The one, whose age is 27, lives 
immediately below X’s floor



एक इमारत में मृंनजिों की एक निनित सृंख्या िोती िै। कोई 
मृंनजि िािी िि  िै. प्रत्येक मृंनजि पर केवि एक व्यनक्त रिता 
िै। मृंनजि पर रििे वािे व्यनक्तयों को या तो उम्र या िाम निया 
गया िै, िेनकि िोिों िि  (उिािरण: यनि पी पििी मृंनजि पर 
रिता िै, तो उसकी उम्र िि  िी गई िै, इसी तरि, नजसकी उम्र 10 
िै, वि िूसरी मृंनजि पर रिता िै, उसका िाम िि  निया गया िै) 
). भूति को क्रमाृंक एक निया गया िै, उसके ऊपर वािे को 
क्रमाृंक िो निया गया िै इत्यानि। V की मृंनजि और 12 वर्भ की 
आयु वािे व्यनक्त की मृंनजि के बीि तीि मृंनजिें िैं। नजसकी
आयु 30 वर्भ िै, वि V की मृंनजि के ठीक िीिे रिता िै। 
नजसकी आयु 12 वर्भ िै, और नजसकी आयु 17 वर्भ िै, उिके 
बीि िो मृंनजिें िैं। वि, नजसकी आयु 8 िै, U की मृंनजि के 
ठीक ऊपर रिता िै। वि, नजसकी उम्र 17 वर्भ िै, Z की मृंनजि के 
ठीक ऊपर रिता िै। सबसे निििी मृंनजि पर रििे वािे व्यनक्त 
की उम्र िि  िी गई िै। X उस मृंनजि पर रिता िै जो उस व्यनक्त 
की मृंनजि से तीि मृंनजि ऊपर िै, नजसकी उम्र 8 वर्भ िै। वि 
व्यनक्त, नजसकी उम्र 27 वर्भ िै, X की मृंनजि के ठीक िीिे रिता 
िै



There are three floors between V’s floor and the 
floor of the one whose age is 12. The one, whose age 
is 30, lives immediately below V’s floor. There are 
two floors between the one whose age is 12, and the 
one whose age 17. The one, whose age is 8, lives just 
above U’s floor. The one, whose age is 17, lives just 
above Z’s floor. The age of the person, who lives on 
the lowermost floor is not given. X lives on the floor 
which is three floors above the floor of the one, 
whose age is 8, lives. The one, whose age is 27, lives 
immediately below X’s floor
Four of the following five are alike in a certain way 
and hence form a group. Which of the following does 
not belong to the group?
(1) The one whose age is 30 years
(2) The one whose age is 27 years
(3) The one whose age is 8 years
(4) The one whose age is 12 years
(5) The one whose age is 17 years



There are three floors between V’s floor and the 
floor of the one whose age is 12. The one, whose age 
is 30, lives immediately below V’s floor. There are 
two floors between the one whose age is 12, and the 
one whose age 17. The one, whose age is 8, lives just 
above U’s floor. The one, whose age is 17, lives just 
above Z’s floor. The age of the person, who lives on 
the lowermost floor is not given. X lives on the floor 
which is three floors above the floor of the one, 
whose age is 8, lives. The one, whose age is 27, lives 
immediately below X’s floor
How many floors are there between U and V?
(1) One 
(2) Two
(3) Three 
(4) Four
(5) Five



There are three floors between V’s floor and the 
floor of the one whose age is 12. The one, whose age 
is 30, lives immediately below V’s floor. There are 
two floors between the one whose age is 12, and the 
one whose age 17. The one, whose age is 8, lives just 
above U’s floor. The one, whose age is 17, lives just 
above Z’s floor. The age of the person, who lives on 
the lowermost floor is not given. X lives on the floor 
which is three floors above the floor of the one, 
whose age is 8, lives. The one, whose age is 27, lives 
immediately below X’s floor
What is the sum of the age of the persons living on 
the odd-numbered floors?
(1) 25 
(2) 20 
(3) 39
(4) 29 
(5) None of the above



There are three floors between V’s floor and the 
floor of the one whose age is 12. The one, whose age 
is 30, lives immediately below V’s floor. There are 
two floors between the one whose age is 12, and the 
one whose age 17. The one, whose age is 8, lives just 
above U’s floor. The one, whose age is 17, lives just 
above Z’s floor. The age of the person, who lives on 
the lowermost floor is not given. X lives on the floor 
which is three floors above the floor of the one, 
whose age is 8, lives. The one, whose age is 27, lives 
immediately below X’s floor
Who among the following lives two floors below the 
floor of V?
(1) X
(2) The one whose age is 8 years
(3) U
(4) The one whose age is 27 years
(5) None of the above



There are three floors between V’s floor and the 
floor of the one whose age is 12. The one, whose age 
is 30, lives immediately below V’s floor. There are 
two floors between the one whose age is 12, and the 
one whose age 17. The one, whose age is 8, lives just 
above U’s floor. The one, whose age is 17, lives just 
above Z’s floor. The age of the person, who lives on 
the lowermost floor is not given. X lives on the floor 
which is three floors above the floor of the one, 
whose age is 8, lives. The one, whose age is 27, lives 
immediately below X’s floor
Whose age is 17 years?
(1) The one who lives on the 7th floor
(2) The one who lives on the 5th floor
(3) The one who lives on the 2nd floor
(4) The one who lives on the 8th floor
(5) Can'tbedetermined



Nine persons are seated around a circular table and 
they all are facing towards the centre. ME is not a 
neighbour of MA and is second to the right of MC. 
MI is the immediate eighbour of MB. MG and MI 
are immediate neighbours. Four persons sit between 
MD and MB. MA sits third to the left of MB. MD 
sits second to the right of ME. Five persons sit 
between MC and MH. MF sits on the remaining 
place.
एक गोिाकार मेज के िारों ओर िौ व्यनक्त बैठे िैं और वे सभी 
कें द्र की ओर मुि नकए िुए िैं। ME, MA का पडोसी िि  िै 
और MC के िायें से िूसरे स्थाि पर िै। एमआई, एमबी का 
निकटतम पडोसी िै। एमजी और एमआई निकटतम पडोसी िैं। 
एमडी और एमबी के बीि िार व्यनक्त बैठे िैं। एमए, एमबी के 
बाय  ओर तीसरे स्थाि पर िै। एमडी, एमई के िायें से िूसरे स्थाि 
पर बैठा िै। एमसी और एमएि के बीि पाृंि व्यनक्त बैठे िैं। 
एमएफ शेर् स्थाि पर बैठा िै।



Nine persons are seated around a circular table and 
they all are facing towards the centre. ME is not a 
neighbour of MA and is second to the right of MC. 
MI is the immediate eighbour of MB. MG and MI 
are immediate neighbours. Four persons sit between 
MD and MB. MA sits third to the left of MB. MD 
sits second to the right of ME. Five persons sit 
between MC and MH. MF sits on the remaining 
place.
Who is the immediate neighbour of MI?
(1) ME 
(2) MG
(3) None of these 
(4) MB
(5) Both(2) and (4)



Nine persons are seated around a circular table and 
they all are facing towards the centre. ME is not a 
neighbour of MA and is second to the right of MC. 
MI is the immediate eighbour of MB. MG and MI 
are immediate neighbours. Four persons sit between 
MD and MB. MA sits third to the left of MB. MD 
sits second to the right of ME. Five persons sit 
between MC and MH. MF sits on the remaining 
place.
Who among the following sits fourth to the left 
of MD?
(1) ME 
(2) MG
(3) MB 
(4) MI
(5) None of these



Nine persons are seated around a circular table and 
they all are facing towards the centre. ME is not a 
neighbour of MA and is second to the right of MC. 
MI is the immediate eighbour of MB. MG and MI 
are immediate neighbours. Four persons sit between 
MD and MB. MA sits third to the left of MB. MD 
sits second to the right of ME. Five persons sit 
between MC and MH. MF sits on the remaining 
place.
Who among the following sits second to the 

right of MF?
(1) MF 
(2) MI 
(3) MH 
(4) MD
(5) None of these



Nine persons are seated around a circular table and 
they all are facing towards the centre. ME is not a 
neighbour of MA and is second to the right of MC. 
MI is the immediate eighbour of MB. MG and MI 
are immediate neighbours. Four persons sit between 
MD and MB. MA sits third to the left of MB. MD 
sits second to the right of ME. Five persons sit 
between MC and MH. MF sits on the remaining 
place.
Who is sitting in front of MB?

(1) MD 
(2) MF
(3) MC 
(4) MA
(5) Can’t be determined



Nine persons are seated around a circular table and 
they all are facing towards the centre. ME is not a 
neighbour of MA and is second to the right of MC. 
MI is the immediate eighbour of MB. MG and MI 
are immediate neighbours. Four persons sit between 
MD and MB. MA sits third to the left of MB. MD 
sits second to the right of ME. Five persons sit 
between MC and MH. MF sits on the remaining 
place.
How many persons are sitting between MB and 
MA?
(1) 2 
(2) 8 
(3) 6 
(4) 5
(5) Cannot be determined
















